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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

a1 R+JM2$#QR?+0@7F3

FR T @A F1 F9A0T F Qe T 7L

Question 1D 9864493773
Status : Answered
Chosen Option : 2

R#+ : J?F :: $0J :
R+IM2S#QR?*O@7F3
Using the above sequence fill in the blank
R#*: T7F ;1 80J:
Ans X 1 QF »
v 2 QF #
X 3. MOF
Xa#@3

02 padr 2018 & sIRT 1 T 7 FF 2
Who is the Defence Minister of India as of February 20187

Question 1D : 9864492207
Status : Not Answered
Chosen Option ; =

g 3AT HRA

V2 Rer dasEa
Nirmala Sitharaman

24 - [25- {26 - (27 - 28— 29)}] =7

Question 1D : 9864492960
Status : Not Answered
Chosen Option : —

Solve the following:

24 - [25- {26 - (27 - 28=29)}] =7

Ans



<t-2
V2.3
X1

X1

Q.4

Ans

1.004 — 0.4 fFadF aUaT ?
1.004 — 0.4 is equal to:

< 1.0.006

X221

X 3 0.640

' 4 0.604

Question 1D : 9864492481
Status : Answered
Chosen Option ;4

Q.5

Ans

s g, wRaE & il R, de e gl & &t o fRyw
Bl

The Indira Point, the southem point of India, is situated in the tip of Great
Nicobar [sland.

.G 8 e
western
Seadr
northern
Xa.tﬁf
gastem
.

southern

)

Question 1D : 9864492106
Status : Not Answered
Chosen Option ;-

Q.6

Ans

T TETET S & T a Fad Rreet e f Py sk 7 8 st Tt
4 A &) TR FI ST 21 BERTET B 59 0 R & TR s aw
AT

A spherical glass vessel has a cylindrical neck Tem long and 4em in diameter, The
diameter of the spherical part is 21em. Find the quantity of water it can hold,

x ; 4932 9 -ririrag
4932 cm?
4939 = HAHT
4939 cm?
4930 U HIHRT

4930 cm®

4929 T WEHET
X4

4929 cm’®

v

a3

Question 1D : 9864492571
Status : Not Answered
Chosen Option : -

Q.7

Question 1D : 9864493677
Status : Not Answered
Chosen Option ;-




Ans

il ol e e e ol e o Tl Rl e -
Fta @ Fua 9EH

afy oeiw fE W g T & oA g g o et e aee feee

FUA.

1. Ul g@iw & T oiu 3w e 5 e )

2 = & # @7 7 T 79, @ A f @9 F 59 59 § 20 feem
Ei o g1

Comsider the given question and decide which of the following statements ks sufficient to
answer the question

What &5 the weight of 1en iron balls if each ball is of the same weight?
Slalemenis:
I. Ome-fourth of each ball’s weight is 3 kg.

2. The total weight of three ron balls i 20 kg more than the total weight of two inon
balls.

1
IFFEAT FYT 2 TS § FatF FET 1 FuS yoOey

Statement 2 alone 15 sufficient while statement 1 alone is msufficient
s el T 1 3R 2 gaeg #
Both statement 1 and 2 are sufficient

AT A HUS 1 gAeT § AT 2

Either statement 1 or 2 is sufficient
754
AT FUF 1 qET § FatE dEer gy 2 H9dg #

Statement 1 alone is sufficient while statement 2 alone is msufficient

v

Q.8

10 ol & FAY & oA & e 20 B 3l wE A @ ow o faee
7 fw wey = sftEs e 21 @ o f 9 oF onw & ot @e e
S & HET weeT 206 @ I B FAE # a v o o weE A
AT WTEE O & W & A i

Cuestion |D : 9864492778
Status : Not Answered
Chosen Opfion : -

The average marks obtained by a groop of 10 students were 20, One student left the group
as a result of which the average of the remaining students rose to 21. But another stadent
Joined, as a result of which the average marks of the group dropped a bit and became 20.6.
‘What were the average marks obtaimed by the student who left and the one who joined?

Ans (: 14
X213
x 316
X415
Q.9 o FE#Ar a1 S A T w20 TR A 0 o A ) 3 e HiT 4 Hiee S

Ans

i e et A v w1

Five men or ten women can complete a job in 20 days. In how many days can 3 men and 4
wommen ¢omplete 17

Question 1D : 9864492629
Status : Not Answered
Chosen Option ;-

X115
X210
v 20
X 425

Q10 FEaT & AT FT FA-T T T ARIeHT FAT 87

Ans

Which state of India celebrates the ‘Sangai Festival® in November?
Qe RG]

Question 1D : 9864492431
Status : Answered
Chosen Option : 2

X 2
Gujarat

v

- Manipur



QM E=fafaa & @ #a o affer affas gemst g smofta 27
Which of the following classifications is based on atomic numbers?

Ans x 1.

Question 1D ;9864493194
Status : Answered
Chosen Option ;4

AR # gssd @ WA (Dobereiner’s Law of Triads)
Dobereiner’s Law of Triads

Jfaeew @ «gclsa Aa#
>z i

Newlands Law Of Octaves
p.

#Azcla §1 wafs ERol (Mendeleev's Periodic Table)
Mendeleev’s Periodic Table

v Ffes mafas grof
Modern Periodic Table

Q.12 wgm # smaifem Saw @6 afysr @ odie 2016 1 FEwe #ia @ &
o FETEE # e S

Which team won the 2016 Champions Trophy Wemen's Hockey tournament defeating
Wetherlands in the finals in London?

Question 1D : 9864492259
Status : Not Answered
Chosen Option ; =

Ans x 1 T

India

X Heeferr
Australia

x5 A
China

v HTHEAT
Argentina

Q.13 3 FaweT & T F% S A T & & w1t wew & wefie 3 W gE
9 9 TF W FeUT f1

m:%::m:

Cuestion 1D : 9864494383
Status : Answered
Chosen Option -3

Select the option that is related to the thisd term in the same way as the second ferm is
related 1o the first term.

Wik @ Joule :3 Power !

Ans Ql‘%l‘

. G
Strength
Xz.m
Ohm
v e
Watt
74 Te<
Walt

Q.14 Prafafas & @ i @ oy FAY F A9EW W T w9 F @ i o
Which of the following metals is a liquid at room temperafure?

Question 1D : 9864493391
Status : Answered



Ans Chosen Option : 3
X | Fewr l
Calcium
Nz UBE
Lithium
9T
L
Mercury
- mifzaw
Sodium
Q15 37 faweq & 904 #, St & 78 AT gmen 7 3w e Ouestion ID - 9884484187
Status - Answered
. = Chosen Option 1
[F1E] | 3] [
Select the option that would come next in the given figure series.
BIIEHIH
Ans
W | - |
+
Xz| |+
: =
i |-
Xa||2
L ]
s 14, 21 T 35F1 a9 F40 3‘7 Question |D : 9864492662
. Status : Answered
The LCM of 14, 21 and 35 is: e Ot A
Ans X 1.140
X217
V3210
X 470
Q17 3ta7 arErerT A P A FES ArCTH & S SET e Question ID : 9864493378
The egg is carried from the ovary to the womb through: DL T
Chosen Oplion : 4
Ans
x arsirerar afrar
the cervix
X 2 I IR

the vas deferens
v B

the oviduct



x4nﬂhm

the uterus
Q.18 AST%MBHEENC=3I0D+KP - :
1% @7 O (@t wftwafim) 7% g7 weadt s I 3w fawa e Question 1D : 9864433828
fear Jw A gk M A of=Et 92 e @ oA Status : Answered
AS1HMBESENC=30D+KP Chosen Option 12

Starting from 1 till O (inclusive of both), if every altemate letter or number or symbol is
dropped then the fifth term from right is:

Ans x1c
X238
Vo
XaM

Q.19 o & ® #I9 § U & 39009 FERTS: 9 pH # A F R e
Haew & ¥ & B = 37
Which one of the following is commonly used as an indicator to measure the exact pH?

Question 1D : 9864493589
Status : Answered
Chosen Option =1

Ans i SeATeRUTe (Phenolphthalein)
Phenolphthalein

Jzuﬁaéaéﬁm

Universal indicator

54
Litmus

Q.20 FATd ST ¥ FEHT T P T - ST it S
g:ﬂamw@;ﬁ L S e e Question ID : 9864493512

Metals can be given different shapes according to onr needs becanse they possess the Status : Not Answered
properties of: Chosen Option : -

Ans  OC 4
Trelehar AT @A (Conductivity and sonorosity)

Conductivity and sonorosity

X2
el fATar #T @SOS (Malleability and sonorosity)

Malleabiliry and sonorosity

F
d=9a1 AT Teehar (Ductility and conductivity)
Ductility and conductivity

W
MafaTar 3R F=aar (Malleability and ductility)
Malleability and ductility

Q.21ﬁqﬁ{ﬂmﬂmtﬂﬂ_ﬁtn£m x:-::iga‘rﬂfammﬂﬁmm . ;
# T = w Question |D - 9864492716

o Status : Not Answered
The two roots of an quadratic equation are given as x =1—mi: -f.mmimmbc ‘ ik
written as: Chosen Option ; -

Ans X1 (2x—1)(Bx—-1)=0
X22x+1DBx—-1)=0
v:(@2x-1)@Bx+1)=0
Kae2x+1DBx+1)=0




Q.22

Ans

VU s U WRagag o x Ustafa g St w, v s
l

If W is the brother of U, U is the sister of W and X is the husband of U, then W is V's

Question 1D : 9864493991
Status : Answered
Chosen Option : 3

751
== ATAY BtE T @ I = A #E w6 @ (Uncle o aunty)
Uncle or sunty

N2
|y S 25 ST O we SEe S @ (Brother-in-law or sister-
in-law)
Brother-in-law or sister-in-law

v IS T A

Brother or sister

i

r AT
Mother

Q.23

Ans

A e e R & e o ¥

Question 1D ;9864493736
Status : Answered
Chosen Option :1

What is the number of squares in the following figure?

V5
X28
X327
X4

QU zmm s dsm s e 2RI AR SR R m

Ans

s A R Ao wah . whg
o & et ot S v wry o oo &R o of m e & Ree

Cuestion 1D ;9864492651
Status : Not Answered
Chosen Option ; =

AT =

Two pipes, when working one at a time can fill a cistern in 2 hours and 3 hours,
respectively while a third pipe can drain the cistem empty in 6 bours, All the three pipes

were opened together when the cistern was E full. How long will it take for the cistern to
be completely full?

?(1.1 o
1 hour
x, 18 30 e
1 hour 30 minutes
}(3.1 e 20 Aee
1 hour 20 minutes
v 1 e 15 fAae

1 hour 15 minutes



Q.25 37 Faar S F 94w S PaeT FAF ¥ 99T 8 8 Question ID - 9864493349

Status : Answered
Chosen Oplion : 4
(1, 1), (4, 64), (8, B12), (8, 718)

Select the number pair that does NOT belong in the following group.

(1, 1), (4, 64), (8, 512), (9, 719)
Ans 1 (1, 1)
X< 2 (4, 64)
X 3.(8, 512)
v (9, 719)

Qi fftftr r wawm i e d o SRt et F a2 wtm

wrd Feme mew B Cluestion 1D : 9864494294

Status - Not Answered
Chosen Option © —

arFr: O @LAE AL AT e & HTT F ORET w1 & wfge 7

faa 1 : @, oF WRE & it & B v aemaae Ee R B

famz 2 : 7, a7 wE e F BT o9 & ve dgade d@e @ b
Consider the given statement and decide which of the following argument(s) is/are strong.

Statement; Shoukd CBDT abolish income tax in India?

Argument 1: Yes, it is an unnecessary burden on the wage eamers in India
Argument 2: No, It s a good source of revenue for Indian Government,

Az x1_ﬂ-7=|?-rﬁazz1 & gerT B

Only argument 1 is strong.
v T a2 8w gl
Only argument 2 is strong.
xaﬁmE1 3 2 =T & T T F
Neither argument 1 nor 2 is strong.

s faarg 1 3R 2 = T € |
Both arguments 1 and 2 are strong.

Q.27 .
Question |0 : 9864493792

Status : Answered
Chosen Option =2




wo REd & TR 9T A ATel WEr HIE B O |

o o o
¥ %
Py P

ninalales

A B C D
‘Which of the four figures can replace the question mark?

| o
oo e
;

mdhdhalng

Ans

Q.28 #@m i 49 s # #F W PR 3 SRR @ oRfeier W o b S

v § Afes st = 9 Question ID : 9864493752

Status : Answered
Chosen Option : 1

] = Soe () e ANrRo
s aowie [ S S r——

-SyoBETE

-scitelhuafEmmd

-sinGEfFar

-denilpicsiDxgmMTET

In the below Venn diagram which number space represents the girls who are athletes but
ned disciplined?




X7

Q.29 ghit # dteow RREF 4 e sy e Rafe st owar Question 1D - 9864493176
Drwarfiness can be controlled by treating plants with: Status :Not Answered

Ans =3 ?ﬂﬂt}ﬂgﬁ?(Cﬁﬂkmm) Chosen Option ;-

Cytokinin

_ Fafore 3 (Gibberellic acid)
Gibberellic acid

X 3 ofAfAS (Ethylene)
Ethylene

, 3ifPEeT (Auxin)

Auxin

v

X

30 o
e ﬂﬁ%#ﬂﬂgﬂgﬁ,?ﬁxﬂﬂmwﬁ Question ID : 9864492462
£ & Status : Answered

Ifﬁ 1s equivalent to ;,ﬂlenﬂle value of x 1s: Chosen Option -4

Aus: 9K 1.18
Xz4
V315
X4

a3

Distribustien of variewus Minarah in Hurman

Body Question 1D : 9864494176
- Status : Answered
Chosen Option : 3

Fotabiom o

Distribution of varous minerals in the human body- 7w T & fafies
eew =

Calcium- FiFymd

Magnesium- #e=0firam

Iron- HET

Potassium- drefimm

Sadium- HifETE

forr o aw AE i & wfast & A wr mn b oA win # owle
# & afast $r smnasa wAe el & a

Distribstion of varieus Minaral in Muman
Body

Sodam
b

Potatiom .

=
= L

sim Mgt

[T T | S e

The given graph shows the distribution of minerals in the human body.
Which two minerals are required almost in the same percentage for te humnan body?

", HiewEE 3R AfdEA

Calcium and sodium



He=fs 3t grefRA

Magnesium and potassium

mﬁmaﬂwmaﬁmw

Sodmm and potassium

x4_$ﬁ-—‘amn3mﬁﬁﬂﬁ‘l?m

Calcium and magnesium

Xz

Q3242 + 3(-2 x 3) - (18 + 6) T AT T gFM?
What is the value of 12 + 3(-2 x 3) - (18 + 6)?
Ans x1 5

Question 1D : 9864494046
Status : Answered
Chosen Option -1

X2.5
X39
vig

O rwama T AR AR S I e s
TEEE ¥ W o R o

FUA:

Question ID : 9864494376
Status - Not Answered
Chosen Option ; -

7 e AT S ST | i & wwor mi S moww & s
#EATH 9T 99 A0

wri:
1. 7 ¥ ST F ST S T S S
2. weiy S Far ATt # T Ry A At

Consider the given statement to be true and decide which of the given courses of action
legically follow(s) from the statement,

Statement:
All the central government employees went on strike due o non-implementation of Tth
PAY COMTUMISSI0N.
Course of Action:
1. Tth pay commission should be implemented immediately.
2, All the central government emplovees should be suspended.

‘ﬁma’ﬂa:rmza:rm?lm%l

Meither 1 nor 2 follows.

s Faer 2 FT I BT B
Only 2 follows.
oo 3r 2 3t #r grere 2T B
Both 1 and 2 follow.
I 1 & 9 2T B
Only 1 follows.

Ans

754

Q3 P # & Fi7 ¥ 90 & 59 F1i0 Fwaa & v
Which of the following plant tissues is capable of cell division?

Ans m
v

Cuestion 1D : 9864493596
Status : Not Answered
Chosen Option : -

Meristem

TFILRISHT
Sclerenchyma

> 2



NerreAr

Parenchyma
X 4
Xylem

p

Q.36 wa & ¥ wiae Tk sq e & oo sl 350 & 00 3 fade o
T A fEws ww mh §) oy tfRwrew e A W der o

. Ashwin of India became the quickest bowler to reach 300 test wickets in just 54 tests,
Where was this historic test played?

Question 1D : 9864492240
Status : Not Answered
Chosen Option ;-

Ans m&T

PR
Kanpur
xz_aﬁm
Kolkata
o i
MNagpur
. :
Delhi

Q.36 e =@ ate ey B wer & dte anest & s R o
AT 627 W 643 FwEr A W #r 17 TF & S o F e oefie

wis a Chinese Buddhist monk, who studied Buddhist Seriptures al Nalanda and is
famous for his 17 year long trip to India between AD 627 to 643,

Question 1D : 9864492085
Status : Not Answered
Chosen Option © -

i wifga=

F
Fa-hien
g3 ST
v
Hiuen Tsang
TR
p
Megasthenes
x4313rm#r
Al Beruni

Q.37 F=om & 90 Freinter # g wfem @ fmh ofy & 57 @0 o 3 5w ol
# 3 FrEniRT i O ®R @& A @ A R e A s A o Sgee
# 5 i FuEr wAT W geon & At At e of & & s
@7

Question 1D ;9864492650
Status : Not Answered
Chosen Option © -

Krishna cycled a distance of 90 km al a certain speed. If he cycled 3 km slower every
hour, he would have taken ¥ more howrs to reach his destination. What is the speed in
kanhr at which Krishna actually cycled?

ans X 115
X218
vi9

X475

Question 1D : 9864494115
Status : Answered
Chosen Option 2




Ans

faw v s wEE & o weee F aw W e w9 sege
HET HAF W wL

ABC : ZYX :: DEF :
Select the missing term based on the given related pair of letter clusters.

ABC : ZYX : DEF :

X 1 WUV
v WVU
X 3 UVW
X 4 VUW

Q.39

Ans

BB

A B ®

Q9=

My BT 7 et = e U W IO EE O TR o o mEa oA
Ty @

B B0

A

edEll=

1f three growps could be formed nsing the given figures only once, these groups would be

. (1,2,5), (4,7,8) 3T (3,6,9)
(1,2.5), (4.7.8) and (3.6.9)

X, (129), (3.7.8) 3R (4,65)
(1,2,9), (3,7.8) and (4.6.5)

e (1,2,5), (3,7,8) 3k (4,6,9)
(1,.2.5), (3.7.8) and (4,6.9)

,(1.2.5), (368) 3T (4,7,9)
(1,2,5), (3.6,8) and (4.7.9)

X

Question 1D : 9864493945
Status : Not Answered
Chosen Option : -

Q.40

Ans

UF AAHRET FT T
One nanometer is:
-9
v 107 A
10° m
10°® #Hex
10¢ m
. 1070 #Hex
1010 m
: 10" #Hex

1011 m

Xz

X

X

Question 1D : 9864493268
Status : Not Answered
Chosen Option : —

Q.41




Question 1D : 9864494030
Status : Not Answered
Chosen Option : —

afy faw r st & AW U 90 3997 T O WAE aATT S W § A
T 7 )

A%
<G

1f three growps could be formed using the given figures only once, these groups would be

", (157), (268) AR (439)
(1.5,7), (2.6.8) and (4.3.9)

. (157). (289) 3R (4,3,8)
(1,5.7), (2.6.9) and (4,3.8)

x, (187), (26,9) 3R (4,35)
(1.8.7). (2,6,9) and (4.3.5)

. (25.7). (169) 3 (438)
(2.5.7). (1,6,9) and (4,3.8)

Q.42
for ik ot faam #% iy Rt & fe R T st e w B Question ID : 9864493670

GL Status : Answered
wafen =arET o iy far § o o seesm # smarer w5 o 9 Chosen Option -1

wewr fgam =T

AT

1. wfgmmat @ e fwem
2, qATRT & ATAeT o w=w B w aEa
Consider the argument and decide which of the given assumptions isare implicit

Argnment:
The Supreme Couwrt has decided that all rapists will be hanged 6l death.

Assumption:

1. Women will get protection
2. The number of rapes cases can be reduced.

Ans x113ﬂT2a’l?-l’fm%

Both 1 and 2 are implicit
Ad1IARFAF 2T
Neither 1 nor 2 is implicit
 %hael AT 2 T g
J Only assumption 2 is implicit
, FI AT 1 T g
Only assumption 1 is implicit

X

v

x

Q43 e & fav fafaf@s & & &7 @ Igfw 3 71 05 T T W 37
‘Which one of the following is the largest source of natural energy to humans?
Ans

Question 1D ;9864493225
Status : Answered
Chosen Option : 4




v. =

Sun

Q.44 37 Fea7 9 (Answer Figure) &7 S0/ &1 it 9%7 =19 (Problem Figure) &

stion |0 : 9864493939
P P # WA R B IIgE R e

Status : Answered
Chosen Option 4

Answer Figures

JS1/1el

A B C D

Problem Figure - F#+T &9, Answer Figure - 3007 &9
Select the Answer Figure that will cosrectly fit in the blank space in the Problem Figure.

Ans

Q.45 2 Feanst & UEEE 20 ¥ g ® R we 1.25 # gEd wem w2
The product of two members is 20, One of them is 1,25, What is the other number?

Question 1D : 9864492640

% Status : Not Answered
ns X 1.15 Chosen Option : -

X212
V316
X414

A weafaferas sitwasE gy A gl Question ID :9864493333

Status : Answered

Aluminium oxide is in nature. Ctiossi Qpticér3.

Ans o e
basic
ErARC )
neutral
HEIT

acidic

X

X 3



FauHf

amphoteric

v

QAT gt & 2t Foao frsor # o =
T T @ T ) e S A 50 1] Question ID : 9864493026

WA 1 W ITEE = 3: 2 F 3 A fE B A Status : Not Answered
3ifer Bowor & arelr . wE w5 e Chosen Cption @ -

Two water-squash mixtures, the first with a water-to-squash ratio of 5 : 1 and the latter
with a ratio of 3 : 1 are blended in the ratio 3 - 2. What 15 the final water : squash ratio in
the blend?

Ans X 1.5 : 3
<210:9
vig4:1
K41

Q48 SireTeRIT UUT T THAT T g T AT ¥ ? Question ID 9864493384

What is the Centre of Curvature of a spherical mirror? Sl NotAnmiered
Ans X 1 Chosen Option ;-

a7 FEw e 9 s g dar B @ e we & wEmier genr &
ot wfefee & @ T £ )
It is the point on the principal axis through which rays of light parallel to the principel axis
pass after reflection.
TF IW Srae A = oA g e e e A e B
It is the cenire of a hollow sphere of which the spherical mirror is a part.

X3
oY e IO & EE A W US fw Ay ¥ Thwd wenw & Rt o o
WA g £

It is & point from which the rays of light appear to be coming from on the principal axis of
a coqyvent mirror.

Tg TR 0T FHT FAeAfdg g § |
It is the midpoint of a spherical mirror.

X4

Q.49 )
e &o &1 Question 1D : 9864492679

Status : Not Answered
—4—(-7-12+4) =2 Chosen Option : -

Solve the following.
—~4—(-7-12+4) =2
o KA 078
<214
vis
Xa.2

Q.50 it &7 BEE (FEAAE M MR T R) O TSRO & FHOT AT & : )
A, CQuestion 1D ;9864493300

; . ; y Status : Not Answered
The acceleration due to gravity at the surface of the earth (mass M and radius R) is
proportional to : Chosen Option : -




X & MR

Q.51 ST T FERTT WA 16 < 1070 C L T AR A 1 A Fegy uny wafem

m*—ﬂmtwm#mmﬁmﬂnmmmﬂm Question 1D : 9864493126
i Status : Not Answered

Assming that the charge of an electron is 1.6 = 1075 C, the number of electrons passing Chosen Option : -

through a section of wire per second when the wire carries a current of | A is:
Ans X 1.0.625 x 1017
X 21.6x100
v 3 6.25 x 1018
X 41.6x1071°

** 250 77 46% forwd R §2 Question ID : 9864493027
46% of 250 is equal to: Status : Answered

Chosen Option : 4
Ans X' 1.103.5
X 2112
X392
V115

Q.53 i & v I5] #1 12% @A & w92 220 # a7 fm 10% W F Bw R 1
TR TG F H{FpQ F e a3 g vy Question 1D : 9864492768

Status : Not Answered
Tunko sold an tem for T220 of 4 loss of 12%, By how much should she have raised the )
price 1o make a profit of 10967 Chosen Option : -

At o 1.X5B5
X 2344
Xa3325
X 4+ T48.40

Q.54 s i Fatwites Ry v ot § Bt 2018 & wiw & ae e
T fem &7
Who is the newly appointed Foreign Secretary of India who took charge in early 201587

Question 1D ;9864492305
Status : Mot Answered
Chosen Option : -

Ans 1 e aEdr fea
Rajni Sekhri Sibal
1 fafes o aeT
Nitin Kumar Yadav
x 5 39 =T
Usha Rani
. T e
Vijay Keshav Gokhale

x

Q.55 -
e wrin s & Shaehr &7 ofvds ‘weifaeT a2 @A 7 Question ID - 9864492313
Which Indian actor’s bicgraphy is titled ‘Anything but Khamosh™? Status - Answered
Ans I dedl Chosen Option ;3

;
Raj Babbar

X 2 e @
Vinod Khanna

P e
Shatrughan Sinha



uHg

Dharmendra

54

Qe s o sh o Rr w o & off oo o S ofm 8

(TR W ST 7 Question ID : 9864494238

Status : Answered
HAPPY Chosen Option : 3

Select the option that depicts the comect marrer insage for the given word (ignore the size),

HAPPY

Ans ¥1 quAI'I
X 2 HYbbA
< 3 YPPAH
X + AbbAH

O o A ¥ FiT W oo and @2 Question ID 9864493430
Which of the following solutions is alkaline? Sl Nov AT deRd

Chosen Option : -
Ans  of 1 [H*] <1 x 10" "Mol/l
X 2[H*]>1x10""Molll
X 3 [H*] =1 x 10-"Mol/l
X 4 [H*] =1 x 10~*Mol/l

Q.58 Fwé st swwa & @ wE-EE W e A @ & R s —
& # Tamet & & Y Question 1D : 9864492438

India is collaborating with which cousitry o set up a high-speed rail link between Mumbai Status - Not Answered
o i Chosen Option © -

Ans
X1 AT
Germany

Q.59
Question 10 : 9864493657

Status - Mot Answered
Chosen Option ;-




Tzt it (answer figures) & & fav wiv waEw 9 (problem figure)d gl
#ad oy & 5w =0

Foutien Fgee

A B c o
Choose the correct water image of the given problem figure from the answer figures

Py Figmr

r
Azt g

e5, ¢4, 4N ed

Ans X1 B
Xz2C
X3D
viA

Q.80 e r=v weemm ofts o e 8 & s soefer & B R
= &7

The Shanti Swamp Bhatnagar Prize is annually awarded for outstanding achievemen in
which area?

Ans e
.

Literature
| e 3R el
Science and Technology
X3 HRAT ENT wel g
Indian Classical Music
?<¢Eﬁﬁﬂﬁﬂfiﬁﬂiﬁﬂ
Tribal Art Forms

v

Question 1D : 9864492324
Status : Answered
Chosen Option : 2

Sl dFm s &
Sound is a:
Ans
x 1 TR FE
Surface wave
X 2 =T FT
Tidal wave
s oY
Mechanical wave

o faega grer T
Electromagnetic wave

v

Question |0 : 9864493343
Status - Answered
Chosen Option ©3




992 31 F gREaeT #r T F AT FET 1T E
The rate of change of velocity is called:

Ans

X1 a0
Force

x 2 HAT
Momentum
T

Acceleration

it
Speed

W3

X4

Question 1D : 9864493279
Status - Answered
Chosen Option : 4

Q.83 =ft 5 5% # Bl 57 = 3 5 A o w9 F I 10 A o FEE

Ans

#t S 7 IEer s e

If the initial velocity of a car i 5 my's, and the final velocity is 10 mys in 5 s, then the

acceleration is 4

v

1m/s?

x
0.1 m/s?

X
10 m/s?

<
5m/s*

Question 1D : 9864493482
Status : Not Answered
Chosen Option © -

1 #rex ofy 75 dee
2_(::.1:1‘!315:%31‘@%5
: 10 #reT 9fy ==1 Oee

.5 et wfay a9 s

Q.64 Ffr Tam & 15 99 oy §1 12 38 o Tw & o A & w A 15 T

Ans

o form =5ww & e of & 17

Joho is 15 years younger than Hll, 12 years ago, Jill's age was 1.5 times that of John. Jill is

oW years old.

X 130
X245
X342
v 57

Question 1D : 9864492652
Status - Mot Answered
Chosen Option ; -

Q.85 7 wit # ww & S0 FAE @ W@ @ A O AN e ogd o e o

Ans

TIT FI0T & A T g

‘What is the measure of the smaller of the two angles formed between the hour hand and
the minute hand of a clock when it is 5:49 pm.?

X 1.120°
v 2 110.5°
X 3.120.5°
X 4119°

Question 1D ;9864492813
Status : Not Answered
Chosen Option © -

Q.66

Cuestion 1D ;9864493725
Status : Not Answered
Chosen Option ; =




&2 T AW AE FET 4 F O FT GHEE B LT B
FIT W G TEE FA OTE AT THG AT ar?

16

B Number of students

14|
A
I
o
e
I
‘T
54—
o

&S

The bar graph represents the favourite fruit of grade 4 students.
Which fruit among the given below was chosen by the least students?

B Number of students

Ans

x4

Q67 ofz 13 Ty g 90 A gAd A € A 3w o R a a I
I a body is whirled in a circle, then the work done on it

Ans
o ; ROTCHS &

Question |0 : 9864493621
Status - Answered
Chosen Option : 2

1s negative
| e ad frar s wear &
cannot be determined
v: TE
is zero
HHRICAS &
1s positive

X 4.

A5% arfeyefver SaToy HIfRYT Y TF FaT AT &

The motile germ cell is called a/an:
Ans

Question 10 : 9864493217
Status - Mot Answered
Chosen Option ;-




R I

1 Male gamete
X2 =
Gamete

3 HFEREHE

Isogamete
HIET JaHR

)
Female gamete

989 ey gwaT #T 26% 65 F wEAT AT FHi Question ID : 9864492646
26% of a number is 65. What is the number? g:ﬁ f:“ﬂ‘“”-‘ﬁ

ans X 140
v 2 250
X 5 260
X ¢ 50

@i ﬂﬂﬁﬁ#mﬂmmﬁwmﬁﬂﬁi Question |0 - 9864493794
Status - Not Answered
.-]_ _a W Chosen Option : -
‘ ' O T
1 2 3 4
Choose the correct figure that can replace the question mark.
T
1 2 3 4
Ans J 1.4
X23
x32
X 41
O a3y +y = 13 px + 2y =5% Question ID :9864492495
Status - Mot Answered
mﬁﬂéqﬁﬁﬁwaﬁﬁ?ﬁ,u& Chosen Option -

The pair of linear equations 3x +y = 1 and
px + 2y = 5 has no finite solution if



Ans

X1 p=26
x5 P=0
Xa0<p<éb
Vi P=6

%72 fret g W

Ans

1 1 _
1+5in8 = 1-Sin8

Solve the following:

1 1 =
14+5in@ 1-Sin@

o 1 25ec?@
<21
X 3 2Cos%6
Xa0

Question 1D : 9864492516
Status : Not Answered
Chosen Option ; =

q.rsmmWﬁmmpwmmmmmwnm

Ans

a1 e fagTar = wEar f

o
malt e et &) ol Rafemat oz £

fored;
1. maft e Rl §

2. @l Tt T

Consider the given stasément as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
All dogs are cats. All cats are bats,

Conclusbons:
1. All bats are cats
2. All dogs are bats,

o, 1 3T 2 Tt SreTERoT R §

Both 1 and 2 follow
g, T fashs 2 sregERor XA &

Only conclusion 2 follows
AU A1 AT 2 HJEOT FIAT &

Either 1 or 2 follows
Fae faswy 1 ERor Far g
4

| Only conclusion 1 follows

X3

Question 1D : 9864493692
Status : Not Answered
Chosen Option ;-

O BIEPRE Fr RAUET FT §?

‘What is the atomicity of Phosphorus?
| ER-aa

Di-atomic

Question 1D : 9864493527
Status : Not Answered
Chosen Option : -




Q75 e & @ w7 W1 R F9 1, 5, 11, 19, 20 &1 4= &7 Question ID : 9864494048

Which of the given options is the pattern of the sequence 1. 5, 11, 19, 297 Status - Not Answered
Ans x1 x2+x-2 Chosen Option ;-
v2x2yx—1

Kax2ex41
Nax2—x—1




